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1. SEOBEERWEEX ~ n(y,0?) 58 10 FEENT: 7.65, 7.60, 7.65, 7.70, 7.55, 7.55, 7.40,
7.40, 7.50, 7.50, BMEHy : p=T.5vs p £ 7.5

(a) Kp — value
ﬁﬁ:fe = 7.55,836 = 01027 = t = i_/f/% = 1.53971\7‘/%,0579 = 1.833K t0'179 = 13832&5,:}
p — valuef/t730.05 x 2&0.1 x 22/, Wity — value/t 0.1 0.2 Z[H,
(b) Kuk195%CI
f8:7 + t 095,05,/ /1 = 7.55 4 2.262 x 0.1027/y/10 = (7.4765,7.6234).
(c) #amta = 0.05
fE: B (a)p-value> 0.058H (b)7.5€ 95% CI of u = Fail to reject Hy

o B 2 3 4 5 6
TXk# |40 10 10 10 10 40

2. H—,T 120K

@ =0.05
f#:Under Ho, B(X;) = 120 x 1 = 20,i = 1,2,--- ,6 = Q; = W 200 | (10-207 | (10-207%
(10—20)2 (10—20)2

40—20)? .
S2OF 4 Q0300 4 (0200 — 90 4545+ 545+ 20 = 60 > y%5 5 = 11.07 = Reject H

AWEH, BFRAEN vs H, : not Hy

3. #X1, Xo, ..., X, X Poisson(0)HO% 2 prior distribution f(f) = %00‘_16_59, x>0

(a) KOHY posterior distribution.
f#:The likelihood function L(x|0) = e 027 / [] 2;! oc e ™02
The prior pdf of 8, £(6) oc 2~ Le=H?
The posterior pdf is proportional to L(x)&(0), it follows that
5(9|X) o ot zi—lo—(B+n)0
The right side of this relation can be recognized as the pdf of a gamma distribution with

parameters o + Y x; and § + n(BANEKAEHEE).
(b) Suppose the squared error loss function is used, Find the Bayes estimate of

f#: The Bayes estimate 0*(x) = O‘;Tzf, which is the mean of the posterior distribution.

4. FEREFAAE 10017 [F 2R EEAIREEEI T &
EERHEES)
MR |k BEEk Wk Bl MEEk | &EF
B4l 21 5 9 12 13 60 MBS TER
ZHE| 9 3 1 15 12 | 40
&3 30 8 10 27 25 | 100
(a) KigEHETE.
Oy = (21_%>2 (5= "o )2 (12_(42)é§5>)2 _
Q= e L e ) 10 ) 0.540.008 + 1.5+ 1.089 + 0.267 +
0.750 4 0.013'F 2.250 + 1.633 + 0.400 = 8.410

(b) HIREMEERIEHE
fg:(r—1)(c—1)=2-1)b—-1)=4

(c) p-TERKIZEZD?
B8 ALNIEXG 14 = T-TTIBNXG 054 = 9-488: 2, I p-fE/70.05 5 0.1: 2. (HEFTEEERA 1R
0.078)

(d) #a = 0.05, EEEAHEEER?
BE: B AR 0.05 LI Sk 32 A i S

(60)(8)




CENSSHEE 1Q WERREAMN, M0, REMENREER 1Q BT

HHE (x)\ 97 106 106 95 102 111 115 104 90 96

WE% (v) | 113 113 101 119 111 122 121 106 110 126

BRI RO E, ARBEEETERE 1Q B3 (a = 0.05)

B HMEH : = py vs Hy t pp < piy, di = 2 —yii = 1,2,...,10 = d = —12, 84 = 10.5830
bl = —1 = ramervm = —3:9857 < —tooos = —1.8331, FTLISEAAMRER, TSR
1Q HIFRRE B RR.

- PHERIRROBS B S AR = BB Bg, FIAF ., ZWMZERMUA R, 1€ 85 BRI iR = B FE R R 45 &
DI RESE s f—(E A E 20 €300, HerA0 €2 R—EARE 13 €50, MM = 0.05T,
BRSNS AR REER?

fle: HREHy : pr = p2 VS p1 # D2, E[PPhPQﬁ\/DJ'JA%TAREﬁ? LTRSS py = % -
0.5556, pp = 45 = 0.675,p = 22 = 0.6118, 2 = ﬁ(lf;s)_(ii+%) — TSNS — 11275,

40
R 2| < 20025 = 1.96 FrLMEEZEANH,, AES R MEESSE A E R,

B ZREEASMERERESR ERPERM M RERNXFEMFER A REERR]
%), AHEEZFREEANSFEERMI Lt G RHEBRRANEERLLCNBEE L 10% U 17
(v = 0.05)

Sr e b EE EE A R - 5—0.55
i FBpBHRNEER FMEH, :p<055vs H :p> 055, z = \/zi(lp—opo) =2 > 205 =
T 50

1.645 = p = & > 0.55 4 1.645 x /2204 — 0.6657 = 2 > 50 x 0.6657 = 33.285 = x > 34

Al 2O ER AR R EREAT B RAFRRAFNERERLINEEERS 10% U L

. BUEREN TSR, BREEEEEMERN M HRE EEEEENTR (ERMEREFEREST)
i | RAEn, FEET, EHEEs
1 9 90.5556  3.6439

2 10 86.4000 3.7771
3 7 95.7143  3.6384
4 8 79.8750 1.7269
BERE | HHE ‘ THH ¥HR ‘ F & ‘ P {8
Sp rhiE A D F H I
(a) BHATEH ANOVA # 1 B B G
| C 1363.5294

fif: A=k-1=4-1=3
B=S"(ni—1)=(9— 1)+ (10—1)+ (7= 1)+ (8 — 1) =30
C=A+B=33

BE=3"(zy — ;)% = S(n; — 1)s? = 334.9258
D=1363.5294-E=1028.6036

F=1028.6036,/3=342.8679

G=334.9258/30=11.1642

H=342.8679/11.1642=30.71

F > Fyois30 = 4518781 P fi< 0.01,1 < 0.01

(b) IR R MRS HE? (o = 0.05)
fB:Ho @y = po = p3 = pua vs Hy AEFTVE pAAHSE
K P fE< 0.01 < 0.05F7TLASEANE SR thut 2 M L i E I BURE A S

(C) *Ml - LLQE/‘] 95% {gﬁﬁgﬁiﬁ
fif:s, = VMSE = V11.1642 = 3.3413, 71 — Ty & tajom ksp X (/7= + 7= = 90.5556 —




86.4000 + 2.0423 x 3.3413 x /3 + L = (1.0202,7.2910)

9. MERTERGRAMERRESER, ERUT:
BEEE (x)[ 1.2 08 1.0 13 07 08 1.0 0.6 0.9
PMER (y) | 101 92 110 120 90 82 93 75 91

(a) Rz, yRIHHRRELL

. _ > (xi—Z)(y—i—7) _ 21.72222 _
e MERAGRE = \/Z(wi—iﬁgj(y—?—yﬁ T 0.41556x1508.88889 0.8675

(b) HyH rHIEIE

140
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100t o
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40+
20+
o .
o 0.5 1 1.5

(¢) BRFEFHEY) = by + byallofst

B 2@i-3)(y—i—y) __ 21.72222 _
%‘bl - Z(xifyjﬂ L= 0.41556 52.2727

bo = § — b1 = 94.88889 — 52.2727 x 0.92222 = 46.6818
AT LERR Ry = 46.6818 4 52.2727x

(d) &Yz ~ n(bo + bz, 0?), Ro*MIfEFHE
g o2 = Rlchocboad® 53 3440

(e) HHFEHEEERRALOK, HisEERMA
f#: § = 46.6818 4+ 52.2727 x 1.0 = 98.9545

(f) HREHEEERRA LOK, HiER 957 HITHHIE R HA?

B Gt 20X 1+ 1+ S0 — 08054542 3646 x7.3037 x V1§ (D
(80.631,117.278)

(g) F£a = 0.05T, MEE LB EMERRSHE
ﬁ@:i‘g‘i%f{o:blevsHl:bl%O
t= b = 52.2727 =4.614 > t770_025 = 2.3646

T 4//S(@i—z)?  7.3037/:/0.41556

At LAZEAI H ), BIEE & 5 Bl & B A RS 1R



